
LarryB
Note
Rev C: Chg model year from 2007+ to 2007 - 2009.

1/7/2010 - Noted second idler on parts list and in instructions. This idler has been included in the kit since 2008 to accommodate OEM component pulley size changes. - DZ







DewEze Clutch Pump Kit 700468 
Chevy 4500-5500, 6.6L, with A/C, A, Rear Port, 2007+ 
 

INSTALLATION  INSTRUCTIONS 
 
 

1. The installation of this kit requires 
trained decision-making concerning 
clearances, tying components together, 
rerouting, or relocating OEM 
components, etc.  It is impossible to 
describe all of the clearance and 
vibration points, etc. in the installation 
instructions. Therefore, the technician 
must exercise professional judgment to 
achieve the best quality installation. 

2. Disconnect the battery. 

3. Remove the OEM belt. 

4. Two idler pulleys are included in this kit 
to accommodate for different OEM 
component pulleys.  Select the idler 
pulley that allows proper tensioner 
stroke (tensioner should rest near middle 
of full stroke).  Push the idler bushing (4) 
into the back of the idler pulley (6).  
Insert the M10 x 40 bolt (10) through a 
3/8 flat washer (15), through the idler 
pulley and bushing and into the boss 
below the air conditioner at Location E.   

5. Bolt the base plate (2) to the engine 
bracket (1) with three 3/8 x 1 socket 
head bolts (13).  Bolt the pump plate (5) 
to the base plate (1) with one 3/8 x 3/4 
socket head bolt (26) and two 3/8 x 1 
socket head bolts (13).  Torque to 20 ft-
lb. 

6. Bolt pump (7) onto pump plate (5) with two 
3/8 x 1 1/4 bolts (14) and two 3/8 flat 
washers (15).  Torque to 20 ft-lb.  Attach 
coil (8a) with four 1/4 x 1/2 flange bolts 
supplied with clutch.  Torque these to 6 ft-lb.  
Attach clutch pulley (8b) to pump shaft with 
5/16NF x 1 1/4 bolt and heavy washer 
supplied with clutch.  Torque to 14 ft-lb. 

7. If the air conditioner bracket has a lug as in 
Fig. 5, it needs to be cut off for the engine 
bracket (1) to fit in place. 

8. Insert the two M10 x 70 bolts (9) through 
the holes in the notched end of the 
engine bracket (1) and into the air 
conditioner mounting bracket at 
Locations A and B.  Torque to 25 ft-lb.  
Thread the M10 x 80 socket head bolt 
(3) into the hole at Location C and 
through the bottom lug of the pump 
bracket.  Torque to 25 ft-lb. 

9. Remove the OEM radiator hose (28).  
Unbolt the small L-shaped bracket 
holding the wiring at the rear of the OEM 
coolant tube (11).  Loosen the OEM 
hose clamps and remove the 3/8 hose 
going rearward from the metal tube.  
Unbolt the three bolts mounting the tube 
and remove the tube.  On the small 
mounting tab elongate the hole 1/16” 
toward the tube as shown in Fig. 4.  
Reinstall the tube with two 1/2” thick 
spacers (18) under the mounting bracket 
and attach with two M8 x 30 bolts (19).  
Install the new 3/8 x 6” long hose (17) 
using two 1/2" hose clamps (20). 

10. Install the belt (23) as shown in the belt 
diagram (Fig. 1). 

11. Connect the battery. 

12. Run the engine and check for any clearance 
or alignment problems.  Adjust as needed. 

 


